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MPL =
𝑑𝑦

𝑑𝑙
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 MPL1 =

𝑑𝑦

𝑑𝑙
=
20 − 0

1 − 0
= 20

MPL2 =
𝑑𝑦

𝑑𝑙
=
38 − 20

2 − 1
= 18

MPL3 =
𝑑𝑦

𝑑𝑙
=
53 − 38

3 − 2
= 15

MPL4 =
𝑑𝑦

𝑑𝑙
=
63 − 53

4 − 3
= 10

MPL5 =
𝑑𝑦

𝑑𝑙
=
68 − 63

6 − 5
= 5

MPL6 =
𝑑𝑦

𝑑𝑙
=
70 − 68

1 − 0
= 2

MPL7 =
𝑑𝑦

𝑑𝑙
=
71 − 70

7 − 6
= 1

MPL8 =
𝑑𝑦

𝑑𝑙
=
71 − 71

8 − 7
= 0

∆R = 𝑃 ∗ MPL

{
 
 
 

 
 
 
∆R1 = 𝑃 ∗ MPL = 2 ∗ 20 = 40
∆R2 = 𝑃 ∗ MPL = 2 ∗ 18 = 36
∆R3 = 𝑃 ∗ MPL = 2 ∗ 15 = 30
∆R4 = 𝑃 ∗ MPL = 2 ∗ 10 = 20
∆R5 = 𝑃 ∗ MPL = 2 ∗ 5 = 10
∆R6 = 𝑃 ∗ MPL = 2 ∗ 2 = 4
∆R7 = 𝑃 ∗ MPL = 2 ∗ 1 = 2
∆R8 = 𝑃 ∗ MPL = 2 ∗ 0 = 0

∆π = 𝑃 ∗ MPL⏟    
∆R

−𝑊n

{
 
 
 
 
 
 
 

 
 
 
 
 
 
 
∆π1 = 𝑃 ∗ MPL⏟    

∆R

−𝑊n = 40 − 10 = 30

∆π2 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 36 − 10 = 26

∆π3 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 30 − 10 = 20

∆π4 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 20 − 10 = 10

∆π5 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 10 − 10 = 0

∆π6 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 4 − 10 = −6

∆π7 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 2 − 10 = −8

∆π8 = 𝑃 ∗ MPL⏟    
∆R

−𝑊n = 0 − 10 = −10

Wr

Wr =
Wn
p

Wr =
Wn
p
=
10

2
= 5

Wr = 5

Wr = 5 



𝑀𝑃𝐿 =
𝑑𝑦

𝑑𝑙
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 MPL1 =

𝑑𝑦

𝑑𝑙
=
08 − 0

1 − 0
= 08

MPL2 =
𝑑𝑦

𝑑𝑙
=
18 − 08

2 − 1
= 10

MPL3 =
𝑑𝑦

𝑑𝑙
=
27 − 18

3 − 2
= 09

MPL4 =
𝑑𝑦

𝑑𝑙
=
35 − 27

4 − 3
= 08

MPL5 =
𝑑𝑦

𝑑𝑙
=
41 − 35

6 − 5
= 06

MPL6 =
𝑑𝑦

𝑑𝑙
=
46 − 41

1 − 0
= 05

MPL7 =
𝑑𝑦

𝑑𝑙
=
51 − 46

7 − 6
= 05

MPL8 =
𝑑𝑦

𝑑𝑙
=
55 − 51

8 − 7
= 04

Wr⏟

 

=
Wn
p

 :Wr⏟

 : Wn

  ∶ p



Wr⏟

 

=
Wn
p
=
120

20
= 06

MPL5 = 06

 
41 ∗ 20 = 820

𝑙𝑠
1

25
(
wn

p
)
2
𝑌 = 40L

1

2 V = 4 M = 40 

 

wn𝑙𝑠 𝑌

𝑀𝑃𝐿 = (𝑌̀) =
𝑑𝑦

𝑑𝑙

𝑀𝑃𝐿 = (𝑌̀) = 40 ∗
1

2
𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 20𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 20𝐿
−1

2

𝑀𝑃𝐿 = (𝑌̀) =
20

𝐿
1

2

𝑀𝑃𝐿 = 𝑊𝑟

𝑊𝑟 = (
𝑊𝑛

𝑃⁄ )

𝑀𝑃𝐿 = (
𝑊𝑛

𝑃⁄ )
20

𝐿
1

2

= (
𝑊𝑛

𝑃⁄ )

𝐿
1

2 ∗ (
𝑊𝑛

𝑃⁄ ) = 20

  = 820 

𝑀𝑃𝐿 =
20

𝐿
1

2

 



𝐿
1

2 =
20

(
𝑊𝑛

𝑃⁄ )

𝑙𝑑 =
202

(
𝑊𝑛

𝑃⁄ )
2

𝑙𝑑 =
400

(
𝑊𝑛

𝑃⁄ )
2

𝑙𝑑 = 𝑙𝑠
400

(
𝑊𝑛

𝑃⁄ )
2 =

1

25
(
𝑊𝑛

𝑃⁄ )
2

(
𝑊𝑛

𝑃⁄ )
2

∗ (
𝑊𝑛

𝑃⁄ )
2

= 400 ∗ 25

(
𝑊𝑛

𝑃⁄ )
4

= 10000

(
𝑊𝑛

𝑃⁄ ) = (10000)
1

4

(
𝑊𝑛

𝑃⁄ ) = 10

(
𝑊𝑛

𝑃⁄ ) = 𝑊𝑟 = 10

{
 
 

 
 𝑙𝑠 =

1

25
(
wn
p
)
2

=
1

25
∗ (10)2 =

1

25
∗ 100 = 4

𝑙𝑑 =
400

(
wn

p
)
2 =

400

(10)2
=
400

100
= 4

𝑙∗ = 4

𝑙𝑑 =
400

(
𝑊𝑛

𝑃⁄ )
2 

(
𝑊𝑛

𝑃⁄ ) = 𝑊𝑟 = 10 

𝑙∗ = 4 



𝑌 = 40 ∗ (4)
1

2

𝑌 = 80

𝑀𝑉 = 𝑃 ∗ 𝑌

𝑃 =
𝑀𝑉

𝑌

𝑃 =
40 ∗ 4

80
=
160

80
= 2

𝑊𝑟 =
𝑤𝑛
𝑝

𝑤𝑛 = 𝑊𝑟 ∗ 𝑝 = 10 ∗ 2 = 20

𝑌𝑛 = 𝑦
∗ ∗ 𝑝 = 80 ∗ 2 = 160
𝑌𝑛 = 160

𝑙𝑠
Wr

2

25
𝑌 = 60L

1

2 V = 4 M = 40 𝑌 = 40L
1

2

M

 

𝑀𝑃𝐿 = (𝑌̀) =
𝑑𝑦

𝑑𝑙

𝑌 = 80 

𝑃 = 2 

𝑤𝑛 = 20 

𝑌𝑛 = 160 



𝑀𝑃𝐿 = (𝑌̀) = 60 ∗
1

2
𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 30𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 30𝐿
−1

2

𝑀𝑃𝐿 = (𝑌̀) =
30

𝐿
1

2

𝑀𝑃𝐿 = 𝑊𝑟
30

𝐿
1

2

= 𝑊𝑟

𝑊𝑟 ∗ 𝐿
1

2 = 30

𝐿
1

2 =
30

𝑊𝑟

𝑙𝑑 =
900

𝑊𝑟
2

𝑙𝑑 = 𝑙𝑠
900

𝑊𝑟
2 =

Wr
2

25

𝑊𝑟
4 = 25 ∗ 900

𝑊𝑟
4 = 22500

𝑊𝑟 = 22500
1

4

𝑙∗ =
900

(12.25)2
=
(12.25)2

25

𝑌∗ = 60(𝑙∗)
1

2 = 60 ∗ (6)
1

2

𝑀𝑃𝐿 =
30

𝐿
1

2

 

𝑊𝑟 ≈ 12.25
 

𝑙∗ ≈ 6
 

𝑌∗ ≈ 146.97
 



𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌

⟹ 𝑃 =
𝑀 ∗ 𝑉

𝑌
=
40 ∗ 4

146.97
≈ 1.09

𝑌 =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑌 ∗ 𝑃 = 146.97 ∗ 1.09 ≈ 160

𝑤𝑟 =
𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑤𝑟 ∗ 𝑃 = 12.25 ∗ 1.09 ≈ 13.35

𝑌 = 40L
1

2

𝑀𝑃𝐿 = (𝑌̀) =
𝑑𝑦

𝑑𝑙

𝑀𝑃𝐿 = (𝑌̀) = 40 ∗
1

2
𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 20𝐿
1

2
−1

𝑀𝑃𝐿 = (𝑌̀) = 20𝐿
−1

2

𝑀𝑃𝐿 = (𝑌̀) =
20

𝐿
1

2

𝑀𝑃𝐿 = 𝑊𝑟
20

𝐿
1

2

= 𝑊𝑟

𝑊𝑟 ∗ 𝐿
1

2 = 20

𝐿
1

2 =
20

𝑊𝑟

𝑃 ≈ 1.09
 

𝑦𝑛 ≈ 160
 

𝑤𝑛 ≈ 13.35
 

𝑀𝑃𝐿 =
20

𝐿
1

2

 



𝑙𝑑 =
400

𝑊𝑟
2

𝑙𝑑 = 𝑙𝑠
400

𝑊𝑟
2 =

Wr
2

25

𝑊𝑟
4 = 25 ∗ 400

𝑊𝑟
4 = 10000

𝑊𝑟 = 10000
1

4

𝑙∗ =
400

(10)2
=
(10)2

25

𝑌∗ = 40(𝑙∗)
1

2 = 40 ∗ (4)
1

2

𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌

⟹ 𝑃 =
𝑀 ∗ 𝑉

𝑌
=
40 ∗ 4

80
= 2

𝑌 =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑌 ∗ 𝑃 = 80 ∗ 2 = 160

𝑤𝑟 =
𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑤𝑟 ∗ 𝑃 = 10 ∗ 2 = 20

𝑊𝑟 = 10
 

𝑙∗ = 4
 

𝑌∗ = 80
 

𝑃 = 2
 

𝑦𝑛 = 160
 

𝑤𝑛 = 20
 



𝐌

𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌 ⇒ 𝑃 =
𝑀 ∗ 𝑉

𝑌
=
80 ∗ 4

80
= 4

𝑌 =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑌 ∗ 𝑃 = 80 ∗ 4 = 320

𝑤𝑟 =
𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑤𝑟 ∗ 𝑃 = 10 ∗ 4 = 20

𝑙𝑠 =
Wr

2

100
𝑌 = 20L

1

2 V = 4 p = 10 
-

𝑀𝑃𝐿 = 𝑊𝑟

𝑀𝑃𝐿 =
𝑑𝑌

𝑑𝑙
= 20 ∗ (

1

2
) ∗ L

1

2
−1 = 10 ∗ L−

1

2

𝑀𝑃𝐿 = 𝑊𝑟

⇒
10

𝑙
1

2

= 𝑊𝑟 ⇒
10

𝑊𝑟
= 𝑙

1

2

𝑀𝑃𝐿 =
10

𝑙
1

2

 

𝑃 = 4
 

𝑦𝑛 = 320
 

𝑤𝑛 = 40
 



1

2

(
10

𝑊𝑟
)
2

= (𝑙
1

2)
2

{
 
 

 
 𝑙𝑑 =

100

𝑊𝑟
2

𝑙𝑠 =
Wr

2

100
𝑙𝑑 = 𝑙𝑠

𝑙𝑑 = 𝑙𝑠 ⇒
100

𝑊𝑟
2 =

Wr
2

100
⇒ 𝑊𝑟

2 ∗ 𝑊𝑟
2 = 100 ∗ 100

⇒ 𝑊𝑟
4 = 10000

(𝑊𝑟
4)

1

4 = (10000)
1

4

𝑙∗ =
Wr

2∗

100
=
102

100
= 1

𝑌∗ = 20𝑙∗
1

2 = 20 ∗ (1)
1

2 = 20

𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌 ⇒ 𝑀 =
𝑃 ∗ 𝑌

𝑉
=
10 ∗ 20

4
=
200

4

𝑙𝑑 =
100

𝑊𝑟
2

 

𝑊𝑟
∗ = 10

 

𝑙∗ = 1
 

𝑌∗ = 20
 

𝑀 = 50
 



𝑌 =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑌 ∗ 𝑃 = 20 ∗ 10 = 200

𝑊𝑟 =
𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑊𝑟 ∗ 𝑃 = 10 ∗ 10 = 100

𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌

𝑀′ = 𝑀 + 10%𝑀 = 50 + 0.1 ∗ (50) = 50 + 5
𝑀′ = 55

𝑀′ ∗ 𝑉 = 𝑃′ ∗ 𝑌 ⇒ 𝑃′ =
𝑀′ ∗ 𝑉

𝑌
=
55 ∗ 4

20
= 11

=
𝑃′ − 𝑃

𝑃
∗ 100 =

11 − 10

10
∗ 100 = 10%

𝑦𝑛 = 𝑌 ∗ 𝑃′ = 20 ∗ 11 = 220

𝑤𝑛 = 𝑊𝑟 ∗ 𝑃′ = 10 ∗ 11 = 110

𝑀′′ = 𝑀 − 10%𝑀 = 50 − 0.1 ∗ (50) = 50 − 5
𝑀′′ = 45

𝑀′′ ∗ 𝑉 = 𝑃′′ ∗ 𝑌 ⇒ 𝑃′′ =
𝑀′′ ∗ 𝑉

𝑌
=
45 ∗ 4

20
= 9

𝑃′′ = 9

𝑦𝑛 = 𝑌 ∗ 𝑃′′ = 20 ∗ 9 = 180

𝑤𝑛 = 𝑊𝑟 ∗ 𝑃′′ = 10 ∗ 9 = 90

𝑦𝑛 = 200
 

𝑤𝑛 = 100
 



𝑙𝑠 =
Wr

2

100
𝑌′ = 40L

1

2 V = 4 𝑃 = 10 

𝑀𝑃𝐿 =
𝑑𝑌

𝑑𝑙
= 40 ∗ (

1

2
) 𝑙

1

2
−1 = 20𝑙−

1

2

𝑀𝑃𝐿 =
20

𝑙
1

2

𝑀𝑃𝐿 = 𝑊𝑟

⇒
20

𝑙
1

2

= 𝑊𝑟 ⇒
20

𝑊𝑟′
= 𝑙

1

2

𝒍𝒅 =
400

𝑊𝑟
2

{
 
 

 
 𝑙𝑑 =

400

𝑊𝑟
2

𝑙𝑠 =
Wr

2

100
𝑙𝑑 = 𝑙𝑠

𝑙𝑑 = 𝑙𝑠 ⇒
400

𝑊𝑟
2 =

Wr
2

100
⇒ 𝑊𝑟

2 ∗ 𝑊𝑟
2 = 400 ∗ 100

⇒ 𝑊𝑟
4 = 40000

(𝑊𝑟
4)

1

4 = (40000)
1

4

𝑙∗ =
Wr

2∗

100
=
402

100
= 4

𝑌∗ = 40𝑙∗
1

2 = 40 ∗ (4)
1

2 = 80

𝑊𝑟
∗ = 40

 

𝑙∗ = 4
 



𝑀 ∗ 𝑉 = 𝑃 ∗ 𝑌 ⇒ 𝑀 =
𝑃 ∗ 𝑌

𝑉
=
10 ∗ 80

4
=
800

4

𝑌 =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑌 ∗ 𝑃 = 80 ∗ 10 = 800

𝑊𝑟 =
𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑊𝑟 ∗ 𝑃 = 40 ∗ 10 = 400

𝑙1
𝑙2
Wr

𝑙1𝑙2𝑤𝑟

 

𝑙2

𝑙1

{
𝑙d → 𝑙2
𝑙s → 𝑙1

𝑙d = 𝑙s

𝑙d = 𝑎1 + 𝑎2𝑤𝑟
𝑎1𝑎2

20 = 𝑎1 + 𝑎2 ∗ (0)… (01)

𝑌∗ = 80
 

𝑀 = 200
 

𝑦𝑛 = 800
 

𝑤𝑛 = 400 



 
18 = 𝑎1 + 𝑎2 ∗ (10)… (02)

𝑎1𝑎2(1)(2)

{
20 = 𝑎1 + 𝑎2 ∗ (0)… . (01)

18 = 𝑎1 + 𝑎2 ∗ (10)… . (02)

20 = 𝑎1 + 𝑎2 ∗ (0) ⟹ 𝑎1 = 20
𝑙1

18 = 20 + 10𝑎2 ⇒ 10𝑎2 = 18 − 20

𝑎2 = −
1

5

𝑙𝑠 = 𝑎1 + 𝑎2𝑤𝑟
𝑎1𝑎2

2 = 𝑎1 + 𝑎2 ∗ (10)… (03)

8 = 𝑎1 + 𝑎2 ∗ (40)… (04)

𝑎1𝑎2(03)(04)

{
2 = 𝑎1 + 𝑎2 ∗ (10)… . (03)

8 = 𝑎1 + 𝑎2 ∗ (40)… . (04)

{
−2 = −𝑎1 − 𝑎2 ∗ (10)… . (03)

8 = 𝑎1 + 𝑎2 ∗ (40)… . (04)

6 = 30𝑎2

𝑎2 =
6

30
=
1

5

2 = 𝑎1 +
1

5
∗ (10)

2 = 𝑎1 + 2
𝑎1 = 0

𝑙𝑑 = 20 −
1

5
𝑤𝑟 

𝑙𝑠 =
1

5
𝑤𝑟  



{
 
 

 
 𝑙𝑑 = 20 −

1

5
𝑤𝑟

𝑙𝑠 =
1

5
𝑤𝑟

𝑙𝑑 = 𝑙𝑠
𝑙𝑑 = 𝑙𝑠

20 −
1

5
𝑤𝑟 =

1

5
𝑤𝑟 ⇒

1

5
𝑤𝑟 +

1

5
𝑤𝑟 = 20

⇒
2

5
𝑤𝑟 = 20

𝑙∗ =
1

5
𝑤𝑟

∗ ⇒ 𝑙∗ =
1

5
∗ (50)

M = 225V = 10

𝑀𝑃𝐿 = 𝑤𝑟

𝑙𝑑 = 20 −
1

5
𝑤𝑟 ⇒ 20 − 𝑙𝑑 =

1

5
𝑤𝑟

𝑤𝑟 = 100 − 5𝑙𝑑

𝑀𝑃𝐿 = 100 − 5𝑙

𝑦 = 𝑓(𝑙) = ∫(100 − 5𝑙𝑑)𝑑𝑙

𝑦∗ = 𝑓( ∗) = 100(10) −
5

2
∗ (10)2 ⇒ 𝑦∗ = 1000 − 250

𝑤𝑟
∗ = 50 

𝑙∗ = 10 

𝑦 = 100𝑙 −
5

2
𝑙2

 

𝑦∗ = 750
 



𝑀𝑉 = 𝑃𝑌 ⇒ 𝑃 =
𝑀𝑉

𝑌
⇒ 𝑃 =

225 ∗ 10

750

=

𝑦∗ =
𝑦𝑛
𝑃
⇒ 𝑦𝑛 = 𝑦

∗ ∗ 𝑃 ⇒ 𝑦𝑛 = 750 ∗ 3

=

𝑤𝑟
∗ =

𝑤𝑛
𝑃
⇒ 𝑤𝑛 = 𝑤𝑟

∗ ∗ 𝑃 ⇒ 𝑤𝑛 = 50 ∗ 3

M𝑃𝐿 = α1 + α2Ld

V = 2

Wr

 
𝑙𝑠

 

1 

2 

𝑃 = 3
 

𝑦𝑛 = 2250
 

𝑤𝑛 = 150
 



𝑀𝑃𝐿 = 𝑊𝑟 …(1)

M𝑃𝐿 = α1 + α2Ld

α1 + α2Ld = 𝑊𝑟 …(2)

α1α2

𝑟 = 1

𝑢0 = 2 ⟹ 𝑢1 = 𝑢0 + (1 − 0)𝑟 = 2 + (1 ∗ 1) = 3

⇒ 𝑢2 = 𝑢1 + (2 − 1)𝑟 = 3 + (1 ∗ 1) = 4

𝑢3 = 𝑢2 + (3 − 2)𝑟 = 4 + (1 ∗ 1) = 5

𝑤𝑟 =
𝑤

𝑃

- 𝑤𝑟1 =
12

2
= 06

- 𝑤𝑟2 =
15

3
= 5

- 𝑤𝑟3 =
16

4
= 4

- 𝑤𝑟4 =
15

5
= 3

- 

𝑊𝑟 = 6𝑙𝑑 = 01

α1 + α2 ∗ (1) = 6… (03)

- 

𝑊𝑟 = 4𝑙𝑑 = 03

α1 + α2 ∗ (3) = 4… (04)

α1α2

{
α1 + α2 = 6… (03)
α1 + 3α2 = 4…(04)

α1 + 3α2 − α1 − α2 = 4 − 6 ⇒ 2α2 = −2

α2 = −1
 



α2

α1 + (−1) = 6 ⇒ α1 = 6 + 1

7 − Ld = 𝑊𝑟
Ld = 7 −𝑊𝑟

- 𝑊𝑟 = 5Ld = 7 − 5 = 2

- 𝑊𝑟 = 3Ld = 7 − 3 = 4

- 

β1 + β2L𝑠 = 𝑊𝑟 …(05)

β1β2

𝑊𝑟 = 0L𝑠 = 0

β1 + β2 ∗ (0) = 0

 

β2L𝑠 = 𝑊𝑟 …(06)

𝑊𝑟 = 1L𝑠 = 2

β2 ∗ (2) = 1

(
1

2
)L𝑠 = 𝑊𝑟

α1 = 7
 

Ld = 7 −𝑊𝑟 
 

β1 = 0
 

β2 =
1

2
 



{

𝑙𝑑 = 7 − 𝑤𝑟
𝑙𝑠 = 2𝑤𝑟
𝑙𝑑 = 𝑙𝑠

𝑙𝑑 = 𝑙𝑠

7 − 𝑤𝑟 = 2𝑤𝑟 ⇒ 2𝑤𝑟 +𝑤𝑟 = 7 ⇒ 3𝑤𝑟 = 7

𝑙∗ = 2 ∗ wr
∗ = 2 ∗ (

7

3
)𝑙∗ = 7 −wr

∗ = 7 − (
7

3
)

𝑌 = 𝑓(𝑙)

𝑙

M𝑃𝐿 = 7 − Ld

𝑌 = ∫𝑀𝑃𝐿 = ∫(7 − Ld) 𝑑𝑙

Ls = 2𝑊𝑟 
 

wr
∗ =

7

3
 

 

𝑙∗ =
14

3
 

 

𝑌 = 𝑓(𝑙) = 7𝑙 −
1

2
𝑙2

 



𝑌∗ = 𝑓(𝑙∗) = 7 (
14

3
) −

1

2
(
14

3
)
2

=
98

3
−
196

18

𝐕 = 𝟐

𝑌∗ ≈ 21.778
 


